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QUESTION: 104
 
Which three characteristics describe the Multiservice Switch 7000 bus? (Choose three.)
 

A.   It is comprised of two 800 Mbps buses. 
B.   It encapsulates both frame and cell traffic. 
C. It connects only to the Control Processors. 
D. The traffic is load shared across both buses. 
E. It has a total dual bus capacity of up to 800 Mbps. 

Answer: A, B, D
 

QUESTION: 105
 
Which two characteristics describe the Multiservice Switch 7480? (Choose two.)
 

A. It must have two Control Processors. 
B. Slot 15 can only accommodate a Control Processor. 
C. Backplane switching occurs on two loadsharing busses. 
D. Different shelves can accommodate either an AC or DC power source. 

Answer: C, D 

QUESTION: 106
 
Which two statements are characteristics of the Multiservice Switch 7440 switch? (Choose two.)
 

A. It supports only DC power. 
B.   It has redundant backplane buses. 
C. It contains one or two Control Processors. 
D. It can accommodate function processors in slots 0 through 4. 

Answer: B, C 

QUESTION: 107
 
Which two Function Processors are supported on a Multiservice Switch 7480? (Choose two.)
 

A.  V.11 
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B.   DS2 
C. ARCNet 
D. Ethernet 

Answer: A, D 

QUESTION: 108
 
Which card on a Multiservice Switch 7400 does not require a termination panel?
 

A.  E1 
B.   DS1 
C. OC3 
D. DS3c 

Answer: C 

QUESTION: 109 
Which two function processors on the Multiservice Switch 7400 require a termination panel or 
sparing panel? (Choose two.) 

A.  V.35 
B.   DS1 
C. OC-3 
D. 2 Port 100 Base-T Ethernet 

Answer: A, B 

QUESTION: 110 
What is the total backplane switching user throughput of a Multiservice Switch 15000 populated 
with two fabric cards? 

A.  1.6 Gbps 
B.  40 Gbps 
C. 56.3 Gbps 
D. 112.6 Gbps 
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Answer: B 

QUESTION: 111 
How many MAC addresses are stored in the MAC Address Module on a Multiservice Switch 
7400? 

A.  64 
B.   256 
C. 1024 
D. 4096 

Answer: C 

QUESTION: 112 
Which two types of hardware alarm LEDs will be activated on the BIP when one fan fails on the 
cooling unit on a Multiservice Switch 15000? (Choose two.) 

A.  Fatal 
B.  Minor 
C. Major 
D. Critical 

Answer: B, C 

QUESTION: 113 
Which two statements describe the functions of the BITS/Alarm Module on the Multiservice 
Switch 15000? (Choose two.) 

A. It connects to a terminal for out-of-band alarm management. 
B.   It connects the Multiservice Switch 15000 to an external timing source. 
C. It connects the MAC Address Module to the Breaker Interface Panel LEDs. 
D. It connects the cooling unit on the Multiservice Switch 15000 to the Breaker Interface Panel 
LEDs. 

Answer: B, D 
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